HERS,O—F

MR FRE T /KE SR

TRAT R—)LEEMEX

y

&= 001)

iR REEIFFER

LW X

5=1:30

6 S ARLE DD EE
c= X=-69221. 310
/ | § § oucog% _ = Y= -40403. 162
/ s ’ e 1 b
ERE® == iy Foc
M. ST= : @Imsoomsoo ° ' o= 8 8 : 8
_4I56'408 Opcon 5% 10.232m == /Il ol o & I ! 8 8 o ﬂ
oNe! s 1 S S T Sy - i - o ~
%m 072 o - &5 TN \ 38
~IP| .. U o S b:
O——+5433 1023 == : = . 8%, 56 9450 %%/Hﬁ%@ g of — L / o
& 2 / S
. J..I:l___J
o (=)
2 X
2000 1000
250 900 | 1850
400 3000 400
3800
]/ [XY . ]/ EX) .
A- A BrmEBR  s=1:50 5 B - B BrER s=1:50
2900 2900
<! +10090 o | +10090
I . I I I
I _ | | I
= | | |
= | I |
L : I [ I
A y g y
o~ I | N | I
& - | 3 | | 21200
= - . | 1200 M | |
= I
100/ = 1100 100 | 11100
= 7T = 7T
j Y I q
= | 0 I | 0
= | | |
= | I |
S L | N =
< | I =
v 3 3
- 1500 600
S 250 2000 1000 -
2 5 S | 1850 150 | =
T I I
W _ 900 __ 700 -
150] |1 | 3| g S
o
- o746 20 | - - = +2746 _
S T ] S
2 - 3
| 1250 L 900
o :_ _: = 250
& C = S
L - §
L N
I I
< — — o <
5 ] = 5
2 L
“ . L |
| L | | Q
8 < | | SRS
) ' o -1940 3
- (a)
~1988 — > / i g
o S ol 8 o
3 = = 3
1400
400 3000 400 400 2100 400
3800 2900

JIEH >

=02

E
F R

HE 0

o S

55
hulsd

R—3

31




HERS,O—F

MR FRE T /KE SR

hfE~< > R— L aE#

X

y

&= 002)

iR REEIFFER

- 822

1755 -
©500i=3.0%0 L=6.500m ’;

100

T H X $=1:50

~
=
- 2
3 =\ 400
[9p]
D
S 300 2000
— 150 1850 S
Bk - S
b
o
s g 11150
— v
S +2.884 S
) — <
S A
- 300
: 2 =
400
c
S g ~
— \
|
|
= ) g&
SRS i BR
-1.912 v -1.866
\
g g/¥ 8
600_ 3000 600
4200

AL EFIDER
X= ~69172. 700
Y= ~40370. 676

]/ *» .
B-B BFr@EE s=1:50
2900
| :7L91?38
a N
= | 21200
= |
/|=- I[/
= 1| 100
- I
- 5
:= |
- I
Z |
I |
= I
! |
= |
= |
- |
N =
! | | i
- 7
[ee]
S - =
E = N
L - 7 +2 884
o
| | S
3
(o)
o™
o
S

600

1690 1200

2890

4794

JIEH >

R—3

32




AR FiiE T 7K E 5 Ik

HEXS3—FkF| XK o $E h 4 £5 IN 5 4R X ES
= — N E‘ +* » L =
GA EELER | A A EOATR 2 hfE~< > h—)LEERX (REZH 003)
i 1 H / A+ 3 SHi8Z  IEHEEIRE
. HERME S=1:50 CERTFEENo.1)
- = S a3 —— 7 To3 — Y .

P e & [ F E B s=1:50 )
?7% ¢ — <10.01 %
+T B %

‘934 C ’? M

u a a= 7.35
012 . S 2 B
2401500 1.3%0 90.150m —— |
g g AFLE LS o
S| — ol O X= -69091. 258
A S s 3 2 Y= -40332. 458
| ©
= =
= 100 #1800 b
22000
L)/ s . ©[/] IXY .
A - A BFrEBE s=1:50 B-B FrEE s=1:50
2600 2600
+10. 057 +10. 057
T | T T
i=. ‘\ // . \
(= ! A / | i\
— | v : 1
x /- ! = 75 ¥ 2900 |75
- _ 18 5 -
/ B '/ | |
| / |
Ti\\L\J:%:: :::if\\l\\hézz
100_| = 2900 ||100 Co
3 o | 5
‘ 2900
100 #1800 100
. 150
8 ; 8 ;
- o 2 LO
" = 100 21800 100 <
%
i o0
- |
e o
3 1.553 3 1.553
8 —v"‘. ; v"‘. 8
N S ——— - N
2 - 2
= =
ET
z / A , 3 F R
> 40 s
il 7
8 8 Q\ <v> g & 1509\ HE%;*”
‘g ‘g g j Q Q ﬂi
— _1. 752 F N/ _1. 721 )y 2
= E 2 = S E S 7
« yosive o200 — s D peoeoos «
100] 21800 100 100 #1800 100 = B
22000 22000
R 0
4
A
"=

33




MERSTI—F| x58 | vom | hHE | 2BEES *H*ﬁ“l/}ll,ijz | 7KJ_ m]_EY
_ (Y7 [ = | — |
GA HELME | A A 504 T X 2 < 2 R— LEEFAL (B =5 004)
: B X 7] X X|[H BIRE  HEE)IBE
a8 B B B S=1:500 (T@EQEFENO. 1)
2 \ ',.\\1\ ﬁ
| F M H s=1:50 |
7 =
= -10.17 —
B C
o150009%o 83 779‘“ " .- b M
- = - = 50
= = a=13.29 1
. I - iy 2 |
(ap) — ©
, i M S 2 g < | N : \/ ol o J AFLZchi) A 11
r—;f/f“ ol © = -
— S 2 RS I - |- : B = A X= -69017. 620
= N| N 3 | l | T & S Y= -40299. 980
= ( ) | N | ol =
S \V m || = % =
L4 - - L - 4L _ _1
o (e)
S al
2000 | 1000
300 900 1800
400 3000 400
3800
11/ X . V17 X .
A - A BrmB  s=1:50 B-B HrmEX s=1:50
LN
2900 2900
+0832 +0832 -
U A : < 21200
/ S — \ =
(——==""T 21200 = |
T v
| .
2 100/, = |100 2 100| = 11100
— = -
S st 50 _#\%_ 5
P A= /
| = - |
S | — I S — i
< | . o = . | —to
400 R A &
2000 1000 §§ 600 1500
S S 1850 150 S ~ .
N o~ 1 N -
> 300900 650
3
A 150 Sl o S
. o S 2 S |
% = = _ | | +3185
Y 8 -
N ™ N
900
250 250
EE S §§ §§ 300 5
IS%) s IS%) o
(@p) D |
2 2 75
g g < % B
/ Q F A
| |
| I ol o 7
5| % | 3 | <—j S| S o f
N N
1617 o 400 T —1589 / 2 s 2
s € =i S A
© — ©
I
400 & A
400 3000 400 400 2100 400 7
BE #0
3800 2900
4
A
R—




HERXRSOa—F| K & #F h 9 %8 IN 5 $B 2B ES
GA BT LR FH0-3TX 3

MR FRE T /KE SR

hfE~< > R— L aE#

X

y

005)

iR REEIFFER

\(HEEQEFENO. 2)

|
||

“1Q0] ‘ }
|
|

18295
. o | _J ’

W

+18 302

|-
S
)

V]

S=1:50

of © S / o a=17.64
¢ & : ? i
— / S '
o ol o ( A S AFLE R
(=} | O X= -68941. 342
D Lo o O
M SRS = 5 \. _ \/ 3 2 _ ﬂ Y= -40265. 885
AN| N Q Q =)
3 B
2 | |
\VA /
(a) () b o
g ) T
250/ | 900 1850
400 3000 400
A h ™ . 3800 B B M/ Y .
BrmEE]  s=1:50 N - B Br@EE  s=1:50
B
150 2900 _ 150 150 2900 _ 150
+9, 788 +9| 788
P
——
A
% L%;: | :;@1200 % o 1 21200
(ap] _ - (9p) | |
AT
e T
VAN % : -
r|=' |\| i )
S — H I S
= L | < I I
o [}
: S — 2
o 1 2000 1000 i
S 600 1500
3 S H 1850 150 3
N | 1 [a\] -
= 900 700 |
% g
= | \.250 150 S o = |
RK l_(o) @ 8 @ -
B v | dlo+3.268'2 = o +3. 268
L i = g —
-< < I o I o < > o
Lo o o
= ” = 900 | T
- 250 a0 S - S j2‘5o 250
3 ] 2 3 2 i
S |
(ap]
S S 400 2100 400
< o o < L
= =
/
| f ol o -
gg L _ SNVAR- | z
S j | | j 5| ®
1,542, o -1.516 /
(e>]
g 2 = =
400 3000 400 400 2100 400
3800 2900

JIEH >

Hh 2 X
E
F R

iR #0
63

-3
2

A

S
am i

—a
oo
SH
|

R—3

39




 [5 o

[50-1] O1500 1. 4% 139.700m
“E| B3R

-68813.
-40209.
1932

AFLE L EE

539 -
598 |

127

AFLiZE 11303

*E mE X s=1:50
a=12.22
5 a5
8 8 3 a b <
<ry N ~— ~—
I / o
o /\ 3 AFLE D EEE
§ § 3 \/ ol o X= -68813. 539
M § § = = \ E E ﬂ Y= -40209. 598
RN 5| = S
3 | | :
_— g
\/ /
() (e} o
(.18 8 S S
2000 | 1000
— 250 1 9001 1850
400 3000 400
3800
B
]/ [XY . ]/ EX) .
A - A BFrEBE s=1:50 c B BREX s=1:50
150 2900 150 150 . 2900 150
+9.983| Iy +9.983| |v
———
- | |
= S 21200 21200
3 T I 3 Iy T
oV il 1 v ™
:ﬁf %5% . ]
F | C m
S — [ i S
< |= | < |
() ()
| M 1 RN Lo
- N N
o 2000 1000 N o 55
()
3 S 1850 150 S
N ] N -
1. 900 700 ]
| \250 | _ 150 S g = 1
L U o3 4242 = = +3. 424
8 N S = |
(ap] | 1 (9p]
(g S ) S
N N
= | 900 |
=950
2 250 400 s 2 s - 250
@© g o g
() =
S a
(9p] (9p] i
3 3 N
<t o o < L
X X
/
( | : Q 140
| ! o o
28 . — - BE
®| ® | | <—> N
~1.320 o -1.292 5(
/ S vq\
§ g & = § o
400 2100 400
400 3000 400 2900
3800

A[‘]E
MERAI—F| X948 | 998 | M E BZEEFS *ﬁ*ﬁ“luwﬁTKLm
GA EEsmR | A AL | ®503TR 3 FfE< U h—JLEERAX (Mm&E= 006) REE  BEEISE
W iF B B ® S=1:500 (fEEEENo.2)

JIEH >

R—3

36




BMERSO—F X 5 % b 5 53R IN 5 3 TEES
GA B LTEEX A A %E50-3TX 3

MR FRE T /KE SR

hfE~< > R— L aE#

X

y

&= 0

07)

iR REEIFFER

- 101

—— P s e e e m—— ———

N
~
[0.24
o) 01800 1% 94. 758
0l\0 I e

1080

1935

ALEDDEE |

-68723. 517
-40179. 837

1060

o-
=4

a0 = E Do =

>

=&
X0

(5%

I mEXNo. 3)

g9.66

AFLIR 11634

y

S=1:50

600

1500

() ()
() Lo
<t N
,:No.lz 8
L L | g g °
QX
0.6 J
| 3
‘ D
!082‘ 8
a9 X | <
|
250 1 900 1850
400 3000 400
3800
B
]/ XY .
A BrmEEX  s=1:50
150 2900 150
+10.473 | v
e —
k!
= S 21200
2 1S T
1= N
T T 5
C |
o — L]
= i
] o
/ e —
o i 2000 1000
Lo =2
o ~ - 1850 150
N 5 >
900 700 [
250 o
| \.250 815:) g g
v | HIg+3.613'2 =
S T
[9p] | 1
3 g
g 250 200 §
< <
()
S
~
S
< o o
X Al
/
g8 | L BE
sl s | | j 5| S
1.1619, ~ o -1.137 /
g = ) ®
400 3000 400
3800

AAERDERER
X= ~68723.517
Y= ~40179. 837

3 U EXY .
B BrEX s=1:50
150 2900 150
+10.473 | o
}/ \%¥ 1200
2 ——
¢ LJ
— i)
S |
()
&
250
o 600 1500
< N
) |
8 =
_ L | 43,613
S T
> 2
N
- 900
o - 1750 250
3 S i
S |
< |
1A0
215
35
ﬁ
2 g
o A
3 e
400 2100 400
2900

JIEH >

R—3

37




Sa—kK| K &9 %8 5 %8 IN 3 3E X B ES
GA B LR A F FH0-2TX 4

MR T /KER IR
hfE] < > iRk—)LEEFAX

(K=

&= 008)

THRE  REEEIFR

-1080

(55

/—\r/

zIZEHNO 3)

’? a=23. 31 ANAERIDEE
\\ 690 3800 b= 9.80 X= -68603. 857
#o| - | o2 1 0= 2.91 Y= -40115. 346
67 _h@“ 55 400 3000 400
22 FRErS: | !
o500 1. 2%o0 | 135, 85 /”/AON = 50 1 a b
s, S 9qus_:; ,
A%E == " e D) = [ i § §
Il b 2= oD ER ‘ =
2\ )\%\éz 857 .11,88
e _40\\5.346
|21 s hegs gg s g Al
LU \ I N AN : - N N
| | & NI
i % 1160
%
(e g o
< = <
'8
|/ X . /| [X) .
A - A BFr@EEX s=1:50 B - B Br@EmX s=1:50
2900 2900
+10. 401 +10. 401
/ B \ —/ \
= | S |
. Il k| e
~ ! ! ! . ~
” | A 1200 | o100 =
N i s
= =
| | | | |
S g ! i f S
Al S H S
= = < d o
= i 250
L _12000 250 i v
o 8 i 8 600 1500 .
IS = — 1850 150 N 1 g
< - i%ﬂ m ~
S o
= +3.737 1u= - %ﬂemo -
T “igi“ D o 150 | §
R‘K 3 I N
*3 g L Jd =2 ) _ v +3. 137
M S —— T S
'< ™. J | o = J | (9P
S S / 2
N N
—_ 250 _ 250 —_
3 3
(o] i (e 0]
(e>) ()
o L O
N N
< B <
N ] N
3 _ >
< o () <
<+ S L
i / .
| |
-, : 2 8
NS | I T ®
|
-1.019 < S < —0.975
T = S
© - ©
400 3000 ‘400
3800 400‘ 2100 ‘400
2900

JIEH >

Hh 2 X
5 Bk
F A

HR #0
63

-
2

o g

a
ais|
SH
j




HER>O—F

N 5 8

v~

HE S

GA

F50-2T X

FAR)RE T /KESIR
hfE < 7R — )L EEHH X

y

&= 009)

iR REEIFFER

=F

-

\‘

S
doroE Dﬂ}ﬁﬁx 5

é

“10.36

aﬂ?rma

*

Sy

s

— 7

S0I-1

‘\ , -10.46
| ]

|

\

: 500 (FEE%

EmEXNo. 4)

I

~ A0 Y3
00 R 00

|-
I<
)

X| $=1:50

- _ a= 3.61 ANFLE I EE
NO ] NO? RS e‘.«v . - b=11.05 X= -68510. 020
O - R \ 7 2990 ‘400 b c=4.11 Y= —40054. 060
A R 68% D B 2 3 S
3 ~40054.060 | S T\fi i
74--- 12.50 .y ~ 7 - < o
. ERIR-Y ‘\ % [XA - ’g 8 P
_ o ~N S
IS ‘ ‘\\ / . A o| of © ) ol O A
| CREE : te 3 = ~| 8 A
2 o O §
-~ g — ¢
[«) [«)
3 3
B
¥}/ » . g 1}/ » .
A - A BrEX s=1:50 B-B BrmE&X s=1:50
2900 2900
+10. 560 - +10. 560
- \
1 = ;F' - \\
——= = ‘|
S [ = { F ' [ S
) n\ll — ||J 21200 l\lg. 'IJ 21200 <
I L~
A T
N
! 1
o I = ’ ! ’ o
g : ! ' ' ! =
! o » o
N : 2
S g 1 250
© S 700 N 600 1510 ©
2 <5 F
<~ | N N
Lo
A
— - 153( §
BK 3| | w7 +3. 859
N o 4 S
< & . = &S
2 A
+3. 859 250H| 2
250 u
% c:i: == § § = §
(e0] 8 < < | (e 0]
: ) : -
< - S L <
3|
—
T [ | Q Q
| - |=
8|8 ! S |
~ |O1 L o o
o |O |
o O |
, ! ~0.894 </ S = §TL
- L N
g 3 - | g
o (]
o Lo
0000000 000000 Sl A
3
400‘ 2990 550 | 2110 | 550
3790 3210

JIEH >

R—3

39




MERAI—FK| X498 | 948\ | MHE BRESES *ﬁ*ﬁ“lumﬁ_l_ﬂ{)_ﬁmﬁ

GA BE p S A H #50-2T X 4 hfE~< > h—)LEERX (X

=
%7? 01 O) FHIRA RS IEER

: 500 (pEE%FmEXINo. 4)

AL ERDERE

| ANRLE L EEAE X= -68419. 901
. \—638419.E'30L1@f ’? 3800 a=14.99 Y= -40014. 330
" . | | -40014.330 b=12. 36
\ | f\ \\ | \ 400, 3000 400 6= 2.95
. \\r”’.’/// \\ ﬁ[g
. \ \ : o o o )
e \ 22 - S =
N \ \\
|
1135 \ \\
\
| e Ia g g gl g Al
d | & X 3 SIS
\ ; ] =
- )
o ()
S S
400 3000 400
07 3800
A-ABrmEKX s B B - B WFEE s
[H] S=1:50 H] S=1:50
2900 2900
+10. 679 :\7 :\7 +10. 679
- _ \ \
1 _ { = {
I B : | |
2 L A £
5 - #1200 ] 41200 =
—
| - J| |
I = T == T
' |
—— 1
[ ' S > Ic>
o ¥ d Q
8 —
S 200 2000 20 A 750
= = S 600 1500 o
S N 1850 150 ~ B g
= - . = iy N
< =
" 8. 150( i s
o | X 5y | - | |o +4.033
g X8 i i g
S 7 3
~ | N
~ 250 o 1 o 250 ~
3 400 2 1E 3
o < | = 0
S =
: =
3 . 2
© ©
- S : <
| - Q
N |
|
ol O
26 - g8
. : > SIS
\ -0.794 < - \z=0. 727 )
077 O/P ‘% S
[} <r P)
© — ©
400| 2100 400
400| 3000 400 9900
3800

JIEH >




~i: N /
: . . . - I s ay v _é_
MERSTI—K| X 9 & th 4 48 Ny E | BEES JIL*=2 JEH O
= N — s s 1 =
6A EEEMR | A AL | B502IK 4 hfE] < > iR— L EE X ( &5 011) ~
: CIREE I At b X| [H] RBL  RE)IBE
S=1:500 (FEE&%*FmEXNo.>b)
P g | A
' i
H 2327-2 7 - ’ y _’ﬂ?
| == = S=1:50
— ’?
M50_1 _4 w 370m 3800 a=23.52 A?L%qjlt\@*% M
NS e Tgo1] 01500 1. 1% 195500 b=18. 31 X= -68328. 751 50
2 Fy — _ =T 400 3000 400 6= 3.35 Y= -30945. 504 ]
No.20 -ﬂ--/ig'gaz”t;”'ﬂﬂ b _
e 0004 | S i S g 4
/
ol ©
0| O
A o o T2 ( Q Sl & o o A
—— ge® ) ) 22zg
\V /
o o o
S i S 8
400 3000 400
" = _ 3800 " = _
A - A BrmEX  s=1:50 B - B By s=1:50
2900 @ 150, 2900 150
+10. 725 . c | +10. 725
- _ \ \
/ \ / . \
L|/ = \|J EE \IJ
A
Ji - rj ¢}= ' fj
~ il = ] EIE ] ~
jé:i\# i %
Li/ = ;J L; ;J
= ! - A ! IS
= | ¥ | S
| 3 ':, 3
400) 8 « _ -
250 250
- S =00 S 600 1500 * _
ol 3 N 1850 150 o ] 2
| N =] =l N
. n o | =
S B P =iy = g ram
S " ; T [ S
3 7 2
+4. 141 “‘ B N
o 250 200 s 250 o
= S |2 3
o -
A=k
™. —
S - S b
¥ < = - ~ 1;5 2
= = 2
n /— | | /
| I Az
2 g ! L _\ gs W
=2 : | j = & 5
0. 615 < -~ 7 -0.595 R—— gﬁ 2
\VAll =) } R
S 2 ¥ S
© — - o
il
F A
400 3000 400 400 2100 400 BE A
3800 2900 .
J=
R—




BEXOa—F| K &9 # b 5 48 IN 5 4R B2EHEHES *E*ﬁ}llljll,ij I 7KL 1 [‘]E
Y I [ —
AR | BS-IIR ; thfgl< > ik— )L EEHEE (Km&E =S 012)
Al X' 7] o X X REL BEEIRE
: 500  (FEE%XFEmEXNo. 5)
A
| )
b/ 7Y |
M50—1] -3 v .
| S mE E s=1:50
’? 4300 a=32. 40 AFLERIDER M
b= 4. 42 X= —68224. 064 50
400 3500 400 6= 3.7 Y= -39865. 722 1
= = s flf
‘ -39865. 22 = =
j g
S 5
la gl gl ® 3 g Af
| ™ - D
N| N < 8 N N
3 ! =
D % o
(e] o
S k=== S
z A
2000 1500
_ | 900 2350
400| 20 3500 400
I EXY . /] XY .
A BrmX  s=1:50 4300 B BrmEB] s=1:50
C
2900 @ 2900
+10.614 |y | +10.614 | o
=.| =
| =
o = 21200 o | #1200
S 1 s 3 b I s
|/|
1T 1 & J 28
= |l
= = = S r:'
S; S Si
4an 2 % 2
400 18 o 0 ) -
_ S 2000 1500 _ o 1 1500 250
= S 1850 150 I .
N il N e i
_ 250/ 1900 700 n
~ =
= 150 S o S m
" = S i s 4,293
= R o — e — o R it
5 | %R L\ _ S i
— o » ()
< \+4. 293 & \ 900 | R
250 .
3 2 3 2 I
S S ;
3 3 | Hh 2=
~ = S ~ ] ¥ R
/ A
| |
=I= : : Sl - BE #0
~ — . — B~ o
s T E | j s 5 e ;3
-0, 457 v 0.485 2g )
3 ¥ =i 3 A
(o] (o]
A &
£ B
400 3500 400 400 2100 400 i
4300 2900
v3
A
R—y

42




HMERSTI—K| X & # th 49 4B NS | BEES *H*E“I/}ILWT7KL mE
GA BT LIEER A A FH0-1TX 5 El:l FEﬂ7 /_l_\_)l/ -%EH X (5‘( F%% 01 3) SRR EEE)IFER
500 (ﬁ’fﬁ EIZEHNO 5>

3 R B & S=1:

i~

X| $=1:50

7
g
i . AALZE
,t b= 8. 15 X= -68198. 700
v c= 4.05 Y= -39815. 309
i
/I
E g
9780. 040 g B S S g
/ 3 3
Vo==44, - - //
Eohil) EAE T = T N |} / o
ARELES =l e L A 2
~J -39815. 309 _ =G . ’ [ S 8 3
OSSR A e A TR heg” 28\ V_ g8 sgn
3 ~ | Wom | TEPRNas SR S R S N
f R ) & 2 =
D
\/ /
o (e (] (e
(e} < < (e
Q‘ — ~— ﬁ-
2000 | 1000
900 1850
400/ 2°0 3000 400
1}/ » . v]/] IXY .
A BrmEX  s=1:50 o 3800 B BrmEi s=1:50
B
2900 2900
+10. 612 - +10.612 | o
VIR I
— — L5 21200 — | 1200
2 i 3 LI s
L : L
P ' |
=~ = <
S ; S g = |
s | = | |
2 p 2
18 T 250 | o
- 4001 5000 1000 - I 250
= = 590 1510
™ ~ ™ I~ <
B o~ 1850 1;0 S N n
~N ~N N =
- _250[900] __700 ]
0 =
S 150 3| o S =
= S S S i = 4367
s R S | | _ S jil
— () = o
9 ; S _ 90 | &
~ 250 o ~ o 2% 250
= giﬁ 3 = 3 -
(o] & < (o] < a
> > ;
= o 13_ Cr _
3 / <>
|
! () (en) y
= : — 4~ EE Se
Sl 5 | j Q| ® %ﬁ
| D
- oy
~0. 396 v —0.335 . § BF
o =] S o
S — S
400 3000 400 400 2100 400
3800 2900

JIEH >

Hh 2 X
5 Bk
F A

HR #0
63

-
2

o g

a
ais|
SH
j




= —I— M- VAN
ERSO—F| XK 9 %5 h 9 %8 N f8 B EE E JII~)||., E \7 ]
HIERXR 7 77 5H 77 5H 77 5H = ] l 1
_ = . =3 = w7 s =
GA EEEmE | A 2 49T X 6 AN i R— JLEESA ( 5 014) ~
; JIL ~ /I A+ ip X|[H] RIRE  EEE)IBE
A
7.
. &
S=1:50 5
a=2. 35
<!
C=10.
WU . . ]/ EXY .
A - A FTEEX S=1:50 B-B FrmEEX S=1:50
Q ANFLEFIDERE
X= -68174. 022
> Y= -39780. 040 ”
%>
0.\ 50
3134 )e) % 1
C
9, 2900 2900
— /// % o+11.476 | | o+11.476
2 7 s 2 i/ é i J/ uga 1
- - // ; 1 — . 1 —
P _ v/ b M | -
o / st} o — | o —
T — 7 1 ) S 7 I 3 —
A g o (- I 1_ -
X — —
L as el el T % 2 - 5 =
= s 1540\ [ & N J _
S N = =/ 8 s 21200 S 21200
= YA A 2 - | ® _—
2 _ & -/ B | -
(o)
S s o - | —
© 300/ | & & o — =
S 3 | 3 T
N Z | 1 - |
B - :F B 200 _l\:Lu
o~ N [ .
SR - - A S |
3798 Q= | L 2 i
B L I :: §
o N 800 o o —
N Z ‘ RS ~ |
165° 20 - — - — |
w0 g i g | T 7
L 8 /I
200 | 71200
- 1700 T - —
S F S —
(o] [ (o] _|
L |
L a
[
S M S B o
= g F = —: {%\
- o — o
/ [ | A % _l — =t = = = -
l LD l ' 2700 S _
8 | o~ - - ) 2 — = 0+ = = — L
= i NanRy S
| 4 -0.111 9
-0. 286 VA | / g ,9
A ¥y avs1)—F S
o
s s £8 g
e o-1.236 Ly AR
/ /
, \.o 1. 386 ﬁ ’;,JZ
O L —
& / ‘ N
— : S iR #0
= i L : P10,/ - o 300 63
S 200 —EC. 1o S ;
o ~ 600 3064 (C. L) 600 600 600
= - - - B 4264 ’
S ~ H
B e S
© | ] / N
2 o ~ = ~ -
/300 | s i
= F A
[Xs)
B3 #0
538
518 4
H
R—




